
30 years at a salary of
$280,000 annually

equates to a retirement pension of
$130,000 annually  

What’s the math on the pension o�er?

How does it compare to investing?

Assuming 4% earnings on investments 
you would need to have invested

$2,575,000
to earn that same annual amount of $130,000 

What are your contributions?

about $925 from each cheque is added to your pension
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A closer look

30 years at a salary of $280,000 annually
equates to a retirement pension of
$130,000 annually  

If you lived 40 years in retirement
you would need $2,575,000 earning 4% 
to generate $130,000 annually.
You would reduce your investment to zero at death.

The amount taken from each cheque for 
pension contributions is about $925
which equates to $24,000 annually
and $721,000 over the 30 years.

 

A total pension contribution of
$721,000 over 30 years equates 
to a nest egg worth $2,575,000.

mpp.pensionsbc.ca/how-the-plan-works

Learn more




